Missing Letter Puzzles Questions with Answers Pdf

Questions : 1

Which letter should be placed in the empty circle?
‘G/D KIG R K
A
F

Caieimie
Rieimie
CHIICIEICH

=)

Ans: D

Start at the bottom left hand corner square, then work up the first column, and back down the

second etc, repeating letters BNDKLFAGR.

Questions : 2



Only one group of six letters below can be
rearranged to spell out a six letter word in the
English language. Identify the word.
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Ans:

IFCLEA = facile

Questions : 3



Fill in the blanks, clockwise or anticlockwise,
to complete the word.
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Ans: Ringworm

Questions : 4

What letter should replace the question mark?
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Ans: P



There are 15 letters before it in the alphabet, and ten after.

Questions : 5

Which letter should be placed in the empty square?
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Ans: X

In rows letters in the first line increase by steps of 5 from left to right, the second row in steps of

4, the next by three and the bottom line by 2.
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